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Let b be a real number such that 0 < b < 2. If the average
value of f(x) = cos(2x) on the interval [0, ] is zero,
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8. The position function of a particle moving in a straight line
is given by
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9. Let y = f(x) be a curve that has a positive derivative and

passes thmugh the point (1,1). If its length L, from 2 =1

to x =4, is given by '
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10.  The slope of the tangent line to the curve
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11. The area of the region enclosed by the curves y = /z and 4
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13.

The curve y = v4x — 22, 1 < 2 < 4, is revolved about the
r-axis. The area of the generated surface is equal to

(a) 127
(b) 67 |
ol
(¢) 3
y .
(d) 47 -2 C[am N lxext) + (250F dx
M A o &
(e) 2m [of | 4x=-x +4 =xix® &
— ; e N
= .
. [ Pl
— AR L d = 1%
- Jgs’z < d dx :wfi“:j ’
= ,
The volume of the solid generated by revolving the region I
bounded by the curves > = —2 and z — y+ 2 = 0 about 0
P

the line y = 1 is given by the integral

1 .
() [, 2m(y® — 3y +2)dy
() .
(b) /_4 2m(y® + y* + 3y - 2) dy
; 1 ‘
() [, 2m(=y"+3y —4)dy

0 .
(d) [ 2m(~y" +4* — 3y +2)dy

-1
() [, 27y +2y* — 3y — 2)dy
J

" 2 N
- ja??; {“fj; -4 2 »gu} ﬁwﬁ sz} é%{}w

-z
H
r. 7,3 R
= JRT (Y -33+7) dy



Math 102, Exam I, Term 132

o

15, The length of the curve
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17. The base of a solid is bounded by the curves y = e*,
y =0,z =0, andx = 1. If the cross sections of the solid,
perpendicular to the z-axis, are semicircles, then the vol-
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By the curves y = sin x,
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